Negative eksponenter pa 10

StudentName: ExamDate: _ ExamScore:
9x10° = 1009 =
666,3+ 100 = 8 x 1009 =
6x10= ] x 10% =
3x10= 100D =
1154+ 100% = 201,6 = 1073 =
333,4+107Y = 3x 10% =
805 + 107 = 1004 =
4x 10> = 699,9 = 10% =
1002 = 6x 10 =
4%10= 1003 =
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Negative eksponenter pd 10

StudentName: _ ExamDate: _ ExamScore:
9x10°=9 10 = 0.0001
666,3 + 107 = 6663000 8 x 107 = 0.0008
6 x 10 = 60 8 x 10% = 800
3 %10 = 30 107 = 0.1
1154+ 107 = 1154000 201,6+ 107 = 201600
333,4+ 107 = 3334000 3 x 102 = 300
805 + 107 = 805000 107 = 0.0001
4 % 10% = 400 699,9 + 10° = 6.999
1072 = 0.01 6 % 10 = 60
4% 10 = 40 107 = 0.001
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